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B E./B. Tech DEGREE EXAMINATION NO‘@MBER/DECEMBER 2018.
Flfth Semestel
| Coﬁlpeter Scuence -and 'Engineérihg
cS 6659 — ARTIFICIAL INTELLIGENCE

(Common to Electmmcs and Instrumentation Engineering, [nstr umentatlon and-
Control Engmeeung and Infmmatlon Technology)

(Regulatlons 201 3)

(Also Common to PTCS 6659 Altlflclal Intelhgence f01 B E (Pait- t1me) Fifth
B Semester - Compute1 Sclence and Engmeeung Regulatmn 2014) '

._Tlnﬂ;e Three hours - S ' Maximum : 100 ‘marks
. Answer'ALL‘quesht_iorns.__ | |
PART A-A—(IO « 2=20 merks)
Sl | Write the ways to forniulate e‘pro‘blem.
2. . Whet 1s problem glfepﬁé- :
3, Differeetiate declaraltive.apd | proce—dural- .knewlleeig_e.
4 - State hew khovﬂedge 1s represented using stfuctured‘fofmat.'
b Differe‘ﬁtiate prepo.sitionalend 'ﬂrst-orde-l_' logic: |
| 6 State ‘Generalized Modes ponene.
7 . Diffefenﬁet‘e supereised. lear;niﬁ'g and unsupervised learning. . o 3
8. List the pilfpose-of STRIPS language.
- 9.  Define Localizaeioﬁ .anc-l list fheir tecl;niqueé.

10. -Write about Meta Knowledge a'equisition in expert"Syst_ems
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PART B— (5 X 13= 65 malks)

Elabm ate on the followmg search techmque

0 fGreedy 'bes_t-'ﬁrs't se,aijch' . o - .7 - X6
(i1) A* séarch._ ' | o - o | _ .I | i (5)
(iii). Menio‘ry.bonr;dt;d Hegriétic search. ,- _ B : ‘ S ‘(3)'
Explam Backt1 alllcl:k searchmg for Constramt Satlsfaetlon PLObIeHi for Map '
Coloring Ploblem e » S L (18)
Rela.te first order Ioglc Wlth plopomtlon loglc and dlscuss m Idetall about
the same. s T o B . : (13)

Descnbe a procedme f01 conver tmg a sentence to CNF Wlth an example

Cay

Discuss about the exact inference iﬂBayesian networks. - ' 13)

Explam fOlWElld chalmng and Backwald Chammg f01 Pmpmtmnal -
Deﬁmte Clauses s : : S - 18

Explam in detaﬂ about STRIPS and write the components of STRIPS for
the given scenario: “Con51de1 a ﬂlght journey in a tuxurious flight from

India to US”. T ‘ o ' o (13) '
Q) VEXpresrs' youl 'vi'eWs_'about Roté Leamlng B _- S I, | {7
- (ii)] How fw-ould you express Forrﬁal learnin:g tlh_eory?_‘ : . : ‘(6.) |
.Iliuétrate rin ‘det_ai‘l.abdut fhe expert sys'tem slie]lé.l - o _ o i ' (13)
| 7 | Or -
Exi_alain in de;‘taii about Gén_eral Lea;fﬁing quel. | - . - o (13) .
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_ PART C—Q >< 15 = 15 malks)

C‘onsuiel the ploblem of changmg a flat tne The goal is to have a good

- spare tirve properly mounted onto the car’s axle, where ‘the initial state

has a flat tire on the axle and a good spare tire in the trunk. To keep it
simple, our version of the problem is an abstract one, with no sticky lug

nuts or other complications. There are just four actions: removing the .-

spare from the trunk, removing the flat tire from the axle, putting the
spare on the axle and leaving the car unattended ovelmght Wnte the

STRIPS and find out the solutlon '

Or

Constluct a Baye&nan network and define the necessaly CPTs for the
given scenario We have a bag of three biased coins' a, b, and ¢ with
p10bab111t1es of coming up headsof 20%, 60%, and 80%, ‘respectively. One
coin is drawn randomly from the bag (with equal hkehhood of drawing

" each of the three coins) and then the coin is fhpped three times to

' gener ate the outcomes Xl X2 and X3. N . _ .
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